precal11ch5lesson2 - Day 2.notebook April 08, 2016

- Assighment ——

Complete pgs. 290 - 291
Questions 6abc,8,15
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Solutions
Be careful with this one!
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19. TThe pcnod y 1N seconds, of a pendu um
(s reloted +o its length’, L, in metecs.
The p_é:mod is the Hine +o’ complete
ONngC

ull cycle and can ‘Dc oppmmmq%éd
D the foemula T= 270

lO

a) Write an equivalent formula with
o rational ¥ denominaotor.

T= 271
= ’D_”H’\FC (Lo )
\\IT&
= 2T NI0L
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b) The length of the pendulym in the
HS BC ‘Dk.\\\dkﬂS m do nTown. |
Vancouver 1S )7 ow lona would
The peﬁdu\um -\*OKE: +o comprete
S Cyc es 2
1= 3HOb
(\0)(21)
- 1[555
= (23@)1@(3)(5)
= TT)S‘J 30  (Time ‘o complete leyele).
=> 3(331@\
= Q'H’SGO Sec Time o complete

S cycles




Attachments

Q MO0705001.1PP
Q Nesting Squares.gsp
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